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EIRX T - 88 - S E|ROFE RAFE RIFE RIFE ZLIRIRCEE ROZEE RAFRE RIFE R2EFRELLAI]
S e AFEZEN) 2N ZEA) ) BN R%) E(%) (%) F(%) (%)
XEHFresEseT0ssn | 11| 11 0 0 0 o[ 100.0 0.0 0.0 0.0 0.0
BRLER 7 6 0 1 0 o| 8.7 0.0 143 0.0 0.0
m|  AEFI-2 2 1 1 0 0 0| 5.0 50.0 0.0 0.0 0.0
¥ | Egay swngo-2| 3 3 0 0 0 0] 100.0 0.0 0.0 0.0 0.0
. AR mEREI-2| 3 3 0 0 0 0l 100.0 0.0 0.0 0.0 0.0
¥ N gt 5l 13 1 1 0 ol 8.7 6.7 67 0.0 0.0
% BYREER 5 5 0 0 0 o[ 100.0 0.0 0.0 0.0 0.0
A %/L\%@ﬁﬂ 0] 10 0 0 0 0l 100.0 0.0 0.0 0.0 0.0
% = | a 5 4 1 0 0 0| 8.0 20.0 0.0 0.0 0.0
§ b [EEcEa-2| 4 4 0 0 0 0l 100.0 0.0 0.0 0.0 0.0
g [P eamesensoz| 5 5 0 0 0 of 100.0 0.0 0.0 0.0 0.0
N gt 29| 28 1 0 0 ol 9%.6 3.4 0.0 0.0 0.0
T¥E 5 5 0 0 0 ol 100.0 0.0 0.0 0.0 0.0
SR ERLERE 60| 57 2 1 0 ol 95.0 3.3 1.7 0.0 0.0
BENAG Q- FREBLERAS] 90| 84 5 1 0 of 93.3 56 1.1 0.0 0.0
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MERFEL, AUHEETE ZHIERE BADAE Q) -FREBIRE =t

T SRR ORE | AFE | SERE | aiRE | AFE | SRE | anE | AFE | SRE | oNE | AFE
jtime 15 9 9 14 4 4 3 1 1 32 14 14
B 0 0 0 0 0 0 0 0 0 0 0 0
a&F 2 1 1 1 0 0 1 0 0 4 1 1
=1 2 1 1 3 0 0 1 0 0 6 1 1
XH 3 0 0 3 0 0 2 0 0 8 0 0
L7z 3 1 1 1 0 0 0 0 0 4 1 1
'S 1 1 1 3 1 0 1 0 0 5 2 1
RIS, 12 5 4 9 0 0 0 0 0 21 5 4
AR 4 2 2 3 0 0 1 0 0 8 2 2
i 8 0 0 8 2 1 3 2 2 19 4 3
BE i 3 3 13 0 0 4 0 0 24 3 3
TE 5 0 0 8 0 0 2 1 1 15 1 1
R 18 7 5 20 1 0 7 1 1 45 9 6
el 7 2 2 10 0 0 5 1 1 22 3 3
Eiidia) 1 5 5 4 1 1 2 1 1 13 7 7
= 11 8 6 16 3 2 2 1 1 29 12 9
alll 19 8 8 21 4 4 6 1 1 46 13 13
BH 10 6 6 13 3 3 8 0 0 31 9 9
e 6 1 1 4 0 0 3 2 2 13 3 3
RE 14 6 6 10 0 0 10 4 4 34 10 10
IR & 1 4 4 14 2 2 4 1 1 25 7 7
] 33 12 12 26 1 1 10 5 5 69 18 18
B0 47 21 21 73 1 6 9 3 3 129 31 30
=8 13 5 5 15 2 2 6 1 1 34 8 8
HE 14 5 5 22 3 3 3 2 2 39 10 10
&R 60 14 14 96 17 14 41 8 8 197 39 36
ABR 2317 78 76 362 46 33 86 20 20 685 144 129
FE 89 38 38 135 1 9 23 8 8 247 57 55
=R 64 15 14 127 13 10 32 7 1 223 35 31
AR 18 7 7 25 3 3 9 0 0 52 10 10
SHER 8 4 4 9 3 2 6 1 1 23 8 7
SR 6 2 2 5 0 0 2 1 1 13 3 3
fELL 11 6 6 24 2 1 8 1 1 43 9 8
L5 14 6 5 22 7 6 5 1 1 41 14 12
1] 6 4 4 6 0 0 3 1 1 15 5 5
& 10 5 4 1 1 1 6 2 2 23 8 1
&l 11 4 4 17 5 3 3 3 3 31 12 10
iR 12 9 9 6 0 0 4 1 1 22 10 10
=A 2 0 0 4 0 0 0 0 0 6 0 0
1 12 4 4 13 1 1 6 0 0 31 5 5
L] 1 1 1 8 2 2 1 0 0 10 3 3
R 6 4 4 2 0 0 0 0 0 8 4 4
A& 1 0 0 4 2 2 2 2 2 7 4 4
AR 3 2 2 6 1 0 5 3 3 14 6 5
=5 5 2 2 2 1 1 4 3 3 1 6 6
BRES 6 2 2 2 0 0 2 0 0 10 2 2
Vi 6 1 1 5 0 0 5 1 1 16 2 2
S ERRE 2 0 0 1 0 0 0 0 0 3 0 0
TNt 0 0 0 0 0 0 0 0 0 0 0 0
st 858 321 311 1202 149 17 346 90 90] 2406 560 518
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